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Does it have another boundary — RINR 9323 719 NOR 9N

Overview

wp? W derives the 2»nn R MO°R by ¥yM¥n M08 from 791y 19V, just as a9y
797 is AMOR from the time of bringing the 793y to the j0°K %11, so too the *MoX
¥xn become 10X from the °pP% nyw. The X7na asks since V"V is not NYW» 770K
7P so too the ¥yMxn 9% should not be nmph nywn POKR. The X replies that
the y1xn 19X have no other ‘boundary’ (specific designation) 0»nn except for
amRs nvw. !

Mmoo responds to an anticipated difficulty:
= NOYIY NYDIY NTNN MO DI NNAN 91297 PNT

For we cannot say that bringing the birds to the 772 is like bringing down the
Y'Y to 10°X Hm (so that the 0»nn 70°X should begin from 2 M9°% NX27, but not RL Nywn) —

mooIn rejects this comparison:
= NDIYN DR YN 2IPT YNNI ¢xo oraan NYAD 29N NAIY NHIY NTN NNT

For bringing down the »"y is written in the 7w=p where it states ‘and the elders

of the city shall bring down the 7%3p,” etc. — This is a required 7710 act -
$9019Y NPYY @1 xapy 2ON2T 302505 NNPPY HAX 29N RY DYDY NNAN YaN

However bringing the 2°1X is not written in the 770, but taking (or
designating) the birds is written in the 7w"5 for it is written, ‘and he shall take
for the one who is being purified,’ etc.

Summary
¥"Vy N7 is written as well as 2°19% NP, but not 2°719¥ NRAT.

Thinking it over
Since the 2°719% must be brought to the 175, why should it also not be considered a
required 770 act?!

"It is different from ¥"y which has another 7123 after 7m°p%, namely R 9115 an7.

217 P1oD Douo.

3 Therefore 7mp? is a 717N required act, while %377 (despite being inevitably necessary) is not a 70 required act, so
it cannot be compared to 723 TN

419 2100 yn 'D.
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